SAP ABAP table ICL POLS PARTICIPANT S UI {Participants in a Claim}

ICLCLAIM
CLIENT [CLNT (3)]
RS 0..N | ACTIVE [CHAR (1)]
= CLAIM [CHAR (17)]

-7 ICLPART

- CLIENT [CLNT (3)]

-~ ICL_POLS_PARTICIPANT S_UI-BPARTNER = ICLPART-PARTICIPANT _ ACTIVE [CHAR (1)]
-~ "0.N & A/M [CHAR (17)]

-7 PARTICIPANT [CHAR (10)]

TOO0O
ICL POLS PARTICIPANT S UI-CLIENT = TO0O0-MANDT -
- - - === -~~7 0..N | MANDT [CLNT (3)]

ICL POLS PARTICIPANT S UI-SUBOBJCAT = TICL013-SUBOB]JCAT TICLO13

CLIENT [CLNT (3)]
OBJCAT [CHAR (2)]
- SUBOBJCAT [CHAR (2)]

I TICL301
ICL POLS PARTICIPANT S UI-CHANGEDBY = USR02-BNAME 0. N [CLIENT [CLNT (3)]
S ROLE [CHAR (4)]
T USRO2

————————————————— MANDT [CLNT (3)]
BNAME [CHAR (12)]




